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€ R W= BlE 366| 8694| 0.001 o[ 000 0 0.0| 0013| 0.002 @) 0
€ R W|fEmEk|E 366| 8707| 0.002 o[ 000 0 0.0| 0025| 0.005 @) 0
€ R W|/hIFH|E 364| 8690| 0.001 o[ 000 0 0.0| 0029| 0.004 @) 0
€ R W4 &|1E 354| 8481 0.002 ol o000 0 00| 0.029| 0.006 O 0
t B |t ElE 365 8700( 0.001 ol o000 0 00| 0014| 0003 O 0
t E m|eEES|X 365| 8696| 0.000 o[ 000 0 0.0| 0.007| 0.002 @) 0
t E WA &E 365 8700| 0.004 71 010 0 00| 0.143| 0026 O 0
N TN R|ET 366| 8694 0.001 ol o000 0 00| 0.009| 0.002 0] 0
m B mREFME 364| 8693| 0.001 o[ 000 0 0.0| 0011| 0.002 @) 0
B W W EE 366| 8690| 0.001 o[ 000 0 0.0| 0011| 0.003 @) 0
B £ W E[E 365| 8689| 0.001 o[ 000 0 0.0| 0020 0.003 @) 0
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€ R W= BlE 365| 8662 0.006]| 0054 ol o0.00 ol o000 0 0.0 0 00| o014 0
€ R W|fEmEs|E 363| 8646 0010 0.068 o[ 000 o[ o0.00 0 0.0 1 03| 0.022 0
€ R W|/NILE|E 359| 8576 0.006| 0.045 ol o0.00 ol o0.00 0 0.0 0 00| 0016 0
€ R W 2| 361| 8600 0.008| 0.051 ol o0.00 ol o000 0 0.0 0 00| 0017 0
€ R R @&|E 359| 8543 0.010| 0059 ol o000 ol o0.00 0 0.0 0 00| 0.020 0
€ R W@ S|E 358| 8544 0.008| 0.051 ol o000 ol o0.00 0 0.0 0 00| 0023 0
€ R W4 &|1E 351| 8411 0.005| 0038 ol o000 ol o0.00 0 0.0 0 0.0| 0.009 0
t B Wt ElE 364| 8672 0.005| 0041 ol o0.00 ol o0.00 0 0.0 0 00| 0012 0
t B MBSk 364| 8638 0.002| 0014 ol o0.00 ol o0.00 0 0.0 0 00| o0.004 0
t B m|FE &E 366| 8677 0.004| 0033 ol o0.00 ol o000 0 0.0 0 0.0| 0.009 0
IR TN OR|#ET 363| 8564 0.008| 0083 ol o0.00 ol o000 0 0.0 1 03| 0019 0
m B mREFME 361| 8634 0009| 0042 o[ 000 o[ o0.00 0 0.0 0 0.0| 0018 0
BRI PR 352| 8514 0.004| 0022 ol o000 ol o000 0 0.0 0 0.0| 0.008 0
B W Wl Bk 355| 8531 0.005| 0043 ol o0.00 ol o000 0 0.0 0 00| 0012 0
B W W EE 359 8616 0.008| 0053 o[ 000 o[ o0.00 0 0.0 0 0.0| 0019 0
B £ W LE[E 365 8670 0.008| 0.061 o[ 000 o[ o0.00 0 0.0 0 0.0| 0017 0
#OE ETiE MEE 355 8473 0.006| 0.040 o[ 000 o[ o0.00 0 0.0 0 0.0| 0012 0
M # ET|R E[ME 359 8560| 0.007| 0056 o[ 000 o[ o0.00 0 0.0 0 0.0| 0018 0
FREEET | B|X 360 8528 0.002| 0019 o[ 000 o[ o0.00 0 0.0 0 0.0| 0.005 0
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(H) | B | (epm) | (ppm) | (ppm) [ (B) | (B | (opm) | (ppm) | (ppm) (%)
€ R W= BlE 365| 8662| 0.001| 0.070( 0.004 365 8662 0007| 0.115| 0017 89.2
€ R W|fEmEk|E 363| 8646| 0.003| 0.178| 0.014 363 8646 0013| 0225| 0034 73.9
€ R W|/NIIE|E 359| 8576| 0.002| 0.046| 0.006 359 8576 0.008| 0080 0.021 78.0
€ R | 2| 361| 8600| 0.001| 0.079| 0.005 361| 8600] 0.009| 0.103| 0.021 90.8
€ R R @&|E 359| 8543| 0.002| 0.131| 0.008 359| 8543| 0012| 0.188| 0.028 81.2
€ R W@ S|E 358| 8544| 0.002| 0.121| 0.010 358| 8544| 0010 0.162| 0.031 82.9
€ R W4 &|1E 351| 8411] 0.001| 0.059| 0.003 351| 8411] 0006 0.088| 0013 79.7
t E #lt ElEF 364| 8672| 0.002| 0.072| 0.007 364| 8672| 0.007| 0.093| 0018 76.5
t E m|eEES|X 364| 8638 0.000| 0.012( 0.001 364 8638 0002| 0024| 0.005 84.2
t B WA &\|E 366 8677| 0.001| 0.081| 0.005 366 8677| 0.004| 0.109| 0.013 81.0
AN R TN BR|ET 363| 8564| 0.002| 0.121| 0.006 363 8564 0009| 0.199| 0.023 81.6
m B mREFME 361| 8634| 0.004]| 0.105| 0.018 361 8634 0013| 0.143| 0.030 67.6
M W | 352| 8514 0.000| 0.022| 0.001 352| 8514| 0.004| 0.044| 0.009 91.3
B W Wl 5% 355 8531| 0.001| 0.029| 0.004 355 8531| 0.006| 0.067| 0014 82.1
B W W FHE 359| 8616| 0.003| 0.074| 0.009 359 8616 0011| 0.121| 0028 74.9
B % W LE[E 365| 8670| 0.002]| 0.095| 0.008 365 8670| 0010| 0.134| 0.023 78.2
#OiE AR MEE 355| 8473| 0.001| 0.061| 0.005 355 8473 0007| 0092| 0016 79.6
M # ET|R E[ME 359| 8560| 0.001| 0.068| 0.007 359 8560 0009| 0.116]| 0024 85.9
FEEEAT|EE B[X 360| 8528| 0.000| 0.046( 0.001 360 8528 0003| 0062| 0.006 89.6
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(B) | B | (epm) | (E) | (%) H (%) | (pm) | (ppm) | (E X - #O) (B) (B)
€ R W= BlE 366| 8746 0.2 0 0.0 0 0.0 24 0.4 @) 0 0
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(B) | (B | (epom) | () | (5D | () [ (B5RH) | (opm) | (ppm)
€ R W= BlE 366| 5449| 0.032 33 204 o[ o0.00| 0092] 0041
€ R W|fEmEs|E 366 5444 0034 63| 364 o o000| 0098| 0046
€ R W|/hI%F|E 366| 5444| 0.036 57 324 o o0.00| o0.100| 0047
€ R W|H R[E 366| 5459| 0.036 64 325 o[ 0.00| 0094 0048
€ R R @&|E 366 5458| 0.034 35 211 0| 000 0089 0045
€ R W|#E S|E 366 5462 0.038 76 418 0| 000 0096 0.050
€ R w4 &|1E 366 5446| 0.037 66 346 0| 000 0095 0.048
t E #|lt ElEF 360 5340 0.036 29 178 0| 000 0091 0045
t E m|eEES|X 366| 5444| 0.035 37 188 o o0.00| 0097| 0045
N R TN BR|ET 366| 5445| 0.032 44 239 o o0.00| 0092| 0042
m B mREFME 366| 5439| 0.030 29 166 o o0.00| 0088| 0042
M W | 366 5451| 0.037 38 208 0| 000 0088| 0045
B W Wl 5% 364| 5387| 0.036 74 438 0| 000 0104 0.047
B W W FHE 366| 5448| 0.035 41 218 o o0.00| 0089| 0046
B % W E[E 366| 5454| 0.034 47 216 o o0.00| 0088| 0045
b= v b= 4 N E 366 5452 0033 45| 246 o o000| 0091| 0044
M AR [ 366| 5452| 0.036 51 279 o o0.00| 0091| 0047
hREEET(RE B[k 366| 5443| 0.040 Al 445 o[ o0.00| 0099 0049
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BROME| Li-cénBE | BA-AH
(B) | B |(mg/m®)| (BERED | (%) (H) (%) |(mg/m®|(mg/m%)| (B x - #&O) (=)
€ R W= EBlE 349| 8542| 0.015 o[ 000 1 03| 0.150| 0.036 (@) 0
€ R W|fEmEk|E 362| 8714| 0.017 o[ 000 0 o[ 0177 0.040 @) 0
€ R W|/hIF|E 360| 8691| 0.014 o[ 000 0 o[ o0.142 0036 (@) 0
€ R W4 &|E 356| 8629| 0.016 0| 0.00 0 0| o0.128| 0.035 O 0
t E #lt ElEF 353 8625| 0.016 0| 0.00 0 0| 0.143| 0.037 O 0
t E Wm|X H|X 354| 8624| 0.019 o[ 0.00 0 o[ o.161| 0049 @) 0
+ B W|BEERE(X 354 8634 0016 o[ o0.00 0 o[ 0.109]| 0.040 @) 0
t E m|eEES|X 354| 8614| 0.015 o[ 000 0 o[ o0.155 0.040 @) 0
t B WA &\|E 354 8621 0.022 28| 030 1 0.3| 0.561| 0.079 O 0
N Ty RET 354| 8622| 0.016 0| 0.00 1 0.3] 0.145| 0.041 O 0
m B mREFME 352| 8615| 0.016 o[ 000 0 o[ o129 0037 @) 0
BRI PR 352 8612 0017 o[ o0.00 0 ol 0122]| 0041 @) 0
B W Wl 5% 352| 8590| 0.015 0| 0.00 0 0| 0.147| 0.036 O 0
B W W FHE 354| 8627| 0.016 o[ 000 0 o[ 0.139| 0037 @) 0
B W dE JFR 354 8632| 0.017 0| 0.00 0 0| 0.145| 0.043 O 0
B % W LE[E 354| 8623| 0.016 o[ 000 1 03| 0.172| 0.037 @) 0
#OME ETiE MEE 354 8614 0018 o[ 000 0 o[ o121 0.040 @) 0
M O# ET|R EE 349 8537 0018 o[ 000 0 o[ o121 0041 (@) 0
FEEEAT|EE B[X 353 8612 0015 o[ 000 0 o[ o116 0036 @) 0
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i Bar-A%
(B) | (B5R) (ug/m% (B) | (%) (ug/m% (1 g/m® ()
+ B Wt ElE 364| 8717 13.2 3 0.8 423 315 0
B W W EE 359| 8664 11.9 3 0.8 54.0 305 0
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o EEE[BEE| tTofa Z0EE
(R | (epmC)| (ppmC)| (B) | (opmC)| (ppmC)| (B) | (W) | (B) | (%)
€ R M= B|E 8604| 009| 009 363 038] 003 9 2.5 1 0.3
€t B WX H|x 8682| 008| 008 365 017] 002 0 0.0 0 0.0
N BTN E|ME 8679| 005| 006 365 024] 000 3 08 0 0.0
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il e i A b e R A
iE EEE[RER iR EEE[RER
(B | (ppmC)| (ppmC)| (H) | (opmC)| (ppmC)| (BFRH) | (ppmC)| (ppmC)| (H) | (opmC)| (ppmC)
€ R M= B|E 8604 199 200 363 258| 1.72| 8604| 208| 2.10 363 2.71 1.79
€t B M|X H|Xx 8682| 1.85| 1.85 365 203] 1.72| 8682 192| 194 365| 2.16| 1.82
N BTN E|E 8679| 1.91 1.93 365 2.21 1.76] 8679] 195 1.99 365| 230| 1.79
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e ZOEE el P =
|
B [ @& [ eem) | om) | GERD [ %) | GER [ (%) (8) (%) (8) (%) | (ppm) (8)
€ R W|(B0RE & 366| 8703| 0.026] 0.095 0 0.00 0 0.00 0 0.0 8 22| 0.041 0
€ R m|(B)RHET |& 358| 8529 0.027| o0.178 0 0.00 5 0.10 0 0.0 10 2.8| 0.041 0
€ R MBI [£T 360| 8593| 0019 0.078 0 0.00 0 0.00 0 0.0 1 03] 0.033 0
P (0 25 3 366) 8669| 0022 0084 ol o000 ol o000 0 0.0 12 33| o0042] o
iE) T98%fEFHMEIZLS1 B FH41E0.06ppmEB X B HILIE. 1EMD1BEHEDSIHIS%DEFHIZH>T. HD. 0.06ppmEBZ DD BEHTH S,
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wE | AR [y ,glg BRI ETIE| ot {Egds)n;gaﬁ Ay [EERETIOM| o 1E908)n§;aﬁ NO2/(NONO2)
(H) (BFRED) | (ppm) (ppm) (ppm) (H) (B5fED) | (ppm) (ppm) (ppm) (%)
€ R W|(B0RE & 366 8703 0.023] 0.184| 0.046 366| 8703| 0.049]| 0.247| 0074 53.2
€ R m|(B)RHET |& 358 8529 0.029] 0892| 0.056 358| 8529 0.056| 1.070| 0.090 483
€ R MBI [#T 360| 8593 0.010| 0.204| 0.032 360 8593| 0.029| 0276 0.060 64.8
P (0 25 3 366] 8669| 0020 0313] 0070 366 8669| 0051] 0374 o0.110 432
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"% 8RS EH20ppm%E 1B F 9B EHE | 10ppmZEfEZT-H :ﬁiﬁ%ﬁmﬁﬁﬂ,m ﬁt30ppm
R e | - i 10ppm%Z 1B < SFEIckB1BEY| LEE
—T B RE  |RIEERE|FETYE| B EKLE0 o o | RS P N i I
BER e BA-BHE |DREE g remes | TEDN10ppmERR [AHof=C&
i B EE Z0EE 2% 28 L& B8 B55HE
== BIME | LE-ctnHE = X
(H) (BRED) | (ppm) ([=1) (%) =] (%) (ppm) (ppm) (B x - £&Q) (H) (H)
€ R W|(B0RE & 366| 8718 0.6 0 0.00 0 0.0 11.2 1.0 O 0 0
€ R m|(B)RHET |& 366 8706 1.0 0 0.00 0 0.0 20.7 1.9 @) 0 0
€ R MBI [£T 366| 8721 0.4 0 0.00 0 0.0 1.9 0.6 @) 0 0
P (0 25 3 366| 8747 0.4 ol o000 0 0.0 25 0.7 O 0 0

F) REEEORANTEICES1 B FHE10ppmZBAF-BHIEF, 1BEHEDENANS2%OEHED1 B FEHEERNLI1BFHEDS5100pmEB A BH
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B 1 RS 18 SES 1R fEHE 1{E|‘£)ﬁ] 01(: Ej—u?{%i 1= Efiﬁl%fgﬁﬁiai%
war | mmm |PE| BE |REEE|ETHE 0 20my/mERA S 010mg/mE A 12 I s | O1Cme/m EHA T2 F B s
BIER M| B BESEZONE | BREzOHE NiSIE| EHF2% Elﬁ\Z_EuJ:é-‘FT-. 1E7§\0._10mg/m x
BRoHME LIz=CEDEE HBA-B%#
(8) (B FE1) (m_g/ms) (B FE1) (%) (8) (%) (m_g/ms) (m_g/ms) (B x - £&QO) (/)
€ R W|(B0RE & 360 8690 0015 0 0.00 0 00| 0.117| 0.035 O 0
€ R m|(B)RHET |& 359| 8650 0.029 91 1.10 2 06| 0832 0078 @) 0
€ R MBI |£X 362| 8707| 0.018 0 0.00 0 00| 0.177] 0.039 @) 0
S () 25 [ 354] 8618] 0020 o] o000 1 03| 0128] 0043 O 0

F) TERBREDRMMFMICES1 BTEYE0.10mg/m* BB &I 1 BEHEOSNAN>2%DFHEND 1 B FYEZERN L1 BEHEDS50.10mg/m*%E
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t=12L. 1 B F9EH0.10me/m* EHBZ = A A2 B UL EEBHELERBHDS5. 2% L BIZA>TLS BT DL TIERRS LA,

(b) FEAZ viibKFE
6 0B 6~9BF3BFRI T | 6~9BF3EERIF Y
O [ - 1z | 6~9FF | 6~9BF3BFREITFIE| {EA0.20ppmC%E | fEHY0.31ppmCE
L I i et R I P =T Bar-EHE | BarEME
B BSiE | 2EE ZDEE ZDEE
(B5) | (ppmC) | (ppmC) (H) (ppmC) | (ppmC) (H) (%) (H) (%)
& R m|(BRE |& 8629 0.14 0.13 364 0.59 0.01 26 7.1 7 1.9
6) A2 RUERIEKE
2 A ERILKER
. 6~9KFIZ| - - 6~9KFIZ| - -
v | wEm |0 s e sire (070 | OHIMTNE g gl pigm| pirp |00 |0~ FORMTAE
FEHE RolE | RIEE FEL19{E|" ol | RIEE
(B5) | (ppmC) | (ppmC) (H) (ppmC) | (ppmC) | (B5RH) | (ppmC) | (ppmC) (H) (ppmC) | (ppmC)
& R m|(BRE |& 8629 1.88 1.88 364 2.14 1.73| 8629 2.02 2.01 364 2.53 1.80




3 —MRBREAKAERDOFRATHRDEFEL
(1) —EibHsE (FF5(BE)

T AT & £ F ¥ {E (ppm)
el | 1 a4p | E Rt s | E R 6 B | A1 748 B | TR 84E B | E R0 | R0 B | TR 21 | T Ri2o4E | ERiosE R

€ R (= BE 0.004 0.004 0.004 0.004 0.004 0.002 0.001 0.001 0.001 0.001
€ R (& @ EE 0.005 0.005 0.004 0.002 0.002 0.002 0.001 0.001 0.001 0.002
£ R w3 FHE 0.004 0.003 0.004 0.003 0.002 0.001 0.001 0.001 0.001 0.001
£ R & Rr[{E 0.002 0.002 0.002 0.001
€ iR [8R [iiz) KE4 0.005 0.004
£ iR |t Bh4E 0.001 0.002 0.002 0.002 0.002 0.002 0.002 0.001 0.002 0.002
t B |t EBlE 0.004 0.004 0.004 0.003 0.002 0.001 0.001 0.001 0.001 0.001
t B WX H|% 0.000 0.001 0.001 0.001
t B WA #8 E|Xx 0.000 0.001 0.001 0.001
t B g & B|X 0.001 0.001 0.001 0.000 0.000 0.000 0.000 0.000 0.000 0.000
t B & I % 0.002 0.002 0.002 0.002 0.003 0.003 0.002 0.002 0.002 0.004
t B (& [T ES 0.001 0.000
t B |’ H|% 0.000 0.001
Z/AS N A wET 0.004 0.004 0.004 0.003 0.001 0.001 0.001 0.001 0.001 0.001
m B WX B OFME 0.004 0.004 0.002 0.001 0.001 0.001 0.001 0.001 0.000 0.001
hn & dfl K1E 0.005 0.004
DRI P M| 7 0.004 0.004 0.002 0.002
B W Bl*x 0.003 0.001 0.001 0.001
=TT i £V F1E 0.003 0.004 0.004 0.004 0.002 0.001 0.001 0.001 0.001 0.001
[=IRTT ) ES IES 0.006 0.006 0.006 0.005 0.003 0.002 0.001 0.001 0.001
BE % | LE 0.005 0.004 0.003 0.002 0.002 0.002 0.001 0.001 0.001 0.001
2 OE OETE & [1E 0.003 0.003 0.003 0.003
A BTN HE 0.004 0.004 0.004 0.004
FEEEES IHES 0.003 0.003 0.003 0.001
o BE & ET| R S1ES 0.001 0.001 0.001 0.001

(2 ZEEmE (1 HEHEDER 2 %ERIME) (GRIZE#E - 0. 04ppmLl F)

— AT B 1B EHEDERB2%BIME (ppm)

el | 1 a4m | E Rt s | E R 6 B | A1 74 B | TR 84E B | E R0 | E R0 B | TR0 | T R2o4E | ERi2sE B

€ R (= B1E 0.006 0.007 0.008 0.006 0.006 0.006 0.003 0.004 0.004 0.002
€ R (& @ EE 0.012 0.011 0.008 0.006 0.005 0.005 0.004 0.005 0.005 0.005
£ iR w3 FHE 0.008 0.007 0.007 0.006 0.006 0.005 0.004 0.005 0.005 0.004
£ R & Rr[{E 0.004 0.004 0.004 0.004
€ iR [8R [iiz) KE4 0.009 0.008
£ iR |t Bh4E 0.005 0.004 0.005 0.005 0.004 0.005 0.004 0.004 0.004 0.006
t B |t EBlE 0.006 0.006 0.007 0.006 0.005 0.003 0.003 0.002 0.003 0.003
t B WX H|% 0.001 0.002 0.002 0.002
t B WA #8 E|Xx 0.002 0.002 0.003 0.002
t B g & Bk 0.003 0.002 0.002 0.002 0.002 0.002 0.001 0.002 0.002 0.002
t B & I % 0.008 0.009 0.009 0.012 0.013 0.016 0.010 0.014 0.016 0.026
t B (& [T ES 0.004 0.002 0.002 0.002
t B | H|% 0.002 0.002 0.002 0.002
/A9 "N AN N 0.006 0.007 0.007 0.006 0.005 0.003 0.002 0.002 0.002 0.002
m B MmX B OFME 0.007 0.007 0.006 0.003 0.003 0.003 0.002 0.002 0.002 0.002
hn & dfl K[1E 0.007 0.008 0.007
v M| 7 0.007 0.007 0.007 0.005
B W Bl*x 0.005 0.006 0.003 0.003
=TT i £V F1E 0.006 0.007 0.007 0.007 0.006 0.003 0.003 0.003 0.003 0.003
[=IRTT ) S IES 0.013 0.010 0.011 0.010 0.008 0.005 0.004 0.004 0.003
BE % | E 0.013 0.012 0.008 0.006 0.006 0.006 0.004 0.004 0.003 0.003
#EWE ET[E & [1E 0.005 0.005 0.005 0.006
A BTN HE 0.006 0.007 0.006 0.007
FEEEETS IHES 0.005 0.006 0.006 0.004
o BE & ET| B S1ES 0.004 0.003 0.003 0.003




Q) —ELEFR (FFIHE)

T B A& F F ¥ {E (ppm)

oISk | e 1 asE | 15t e | Rt 64 B | R 74 B | R s e | E A1 9% e | 205 | ERt21 4 R | E 224 | TR 23 4 B
& R M= E|E 0.011 0.010 0.008 0.008 0.009 0.008 0.008 0.007 0.007 0.006
& R Hm|@E m #WE 0.019 0.019 0.017 0.014 0.016 0.014 0.012 0.010 0.010 0.010
£ R |/ I F[E 0.010 0.010 0.010 0.010 0.010 0.009 0.008 0.007 0.007 0.006
& R ™% R|E 0.017 0.016 0.013 0.012 0.012 0.010 0.010 0.009 0.009 0.008
£ R |8 iz KES 0.016 0.016 0.016 0.015 0.015 0.013 0.012 0.011 0.011 0.010
& R W|#@E EB[1E 0.012 0.013 0.012 0.011 0.012 0.011 0.010 0.009 0.009 0.008
£ R i EH|E 0.010 0.010 0.010 0.010 0.009 0.008 0.007 0.007 0.006 0.005
t B |t BE 0.009 0.008 0.007 0.007 0.007 0.007 0.007 0.006 0.005 0.005
t E #|X H|% 0.004 0.004 0.004 0.004
t E Wm|E 8B KX 0.003 0.004 0.004 0.003
t E g & B|X 0.003 0.003 0.002 0.002 0.002 0.002 0.002 0.002 0.002 0.002
t B m|& W5 |4E 0.006 0.006 0.006 0.005 0.004 0.004 0.004 0.004 0.004 0.004
t B mi|iE NES 0.002 0.002
t E & H|*% 0.004 0.004
PN VN I INE: 0.015 0.013 0.013 0.012 0.010 0.009 0.008 0.008 0.007 0.008
mE WX B OFME 0.014 0.014 0.014 0.013 0.013 0.012 0.011 0.010 0.010 0.009
fn & (W ®K|1E 0.013 0.013
B ¥E mH YE| P 0.006 0.007 0.006 0.005 0.005 0.005 0.004 0.004 0.004 0.004
B W Bl*x 0.009 0.009 0.009 0.008 0.005
=TT o PN F[1x 0.014 0.015 0.013 0.013 0.013 0.012 0.010 0.009 0.009 0.008
=TT S INES 0.013 0.014 0.014 0.012 0.013 0.010 0.008 0.008 0.008
BE % T|R E 0.013 0.012 0.011 0.010 0.010 0.009 0.008 0.008 0.008 0.008
EOWE ET[E & [1E 0.011 0.011 0.011 0.010 0.011 0.009 0.008 0.007 0.006 0.006
S (1 0.012 0.012 0.011 0.009 0.010 0.009 0.009 0.008 0.008 0.007
FEREEETS = ES 0.005 0.005 0.004 0.005
o BE ZET| R B|x 0.003 0.003 0.003 0.003 0.003 0.003 0.002 0.002 0.002 0.002

4) —REEFE (1 BHEHIEDERIS%IE)

(JREEEHE © 0. 04ppm~0. 06ppmLL )

BT AEm A& 1B FEDEMIS%IE (ppm)

Hotsk | e 1 asE e | 54 e | TRt 64 B | TR 74 B | R s B | E A1 9% e | 204 | E 21 4 R | E 224 | A 2a 4 B
£ R M= E|E 0.021 0.022 0.018 0.018 0.020 0.016 0.016 0.014 0.015 0.014
& R Hm|@E m EWE 0.034 0.036 0.032 0.028 0.032 0.028 0.023 0.022 0.027 0.022
£ R |/ I F[E 0.018 0.019 0.021 0.022 0.025 0.019 0.019 0.014 0.016 0.016
& R ™% R|E 0.032 0.030 0.025 0.023 0.022 0.020 0.019 0.018 0.019 0.017
£ R |8 izl KES 0.026 0.029 0.029 0.029 0.027 0.025 0.023 0.022 0.024 0.020
£ R W|#@E EB[1E 0.025 0.031 0.029 0.029 0.029 0.026 0.024 0.022 0.024 0.023
£ R m|d EE 0.019 0.020 0.020 0.023 0.020 0.016 0.016 0.016 0.015 0.009
t B |t BE 0.020 0.019 0.016 0.016 0.015 0.014 0.015 0.014 0.013 0.012
t E #|X H|% 0.008 0.009 0.009 0.010
t E W|E B KX 0.011 0.009 0.010 0.009
t E g & B|X 0.007 0.006 0.006 0.005 0.005 0.005 0.005 0.004 0.005 0.004
t B m|& W |4E 0.016 0.016 0.015 0.014 0.010 0.010 0.011 0.009 0.010 0.009
t B mi|E NES 0.005 0.005
t E & H|*% 0.012 0.011
AN T [NE S 0.029 0.026 0.027 0.028 0.020 0.020 0.017 0.017 0.019 0.019
m &' WX B OFME 0.025 0.023 0.023 0.024 0.025 0.022 0.020 0.020 0.020 0.018
fn & (W ®’|1E 0.022 0.021
B ¥E mH YE| P 0.013 0.015 0.013 0.010 0.011 0.010 0.009 0.008 0.008 0.008
B W Bl*x 0.019 0.020 0.018 0.017 0.012
=TT PN F£[1x 0.026 0.030 0.026 0.027 0.024 0.023 0.021 0.019 0.021 0.019
=TI S INES 0.023 0.026 0.026 0.023 0.024 0.021 0.017 0.017 0.027
BE % T|R E 0.026 0.023 0.023 0.021 0.021 0.021 0.019 0.018 0.019 0.017
EWE ET[E & [1E 0.022 0.022 0.022 0.022 0.022 0.020 0.016 0.015 0.014 0.012
M AT (1 0.029 0.029 0.027 0.024 0.025 0.021 0.021 0.020 0.021 0.018
FEEEETS I=HES 0.016 0.014 0.011 0.013
o BE ZET| R B|x 0.007 0.007 0.007 0.007 0.007 0.006 0.005 0.005 0.005 0.005




(6) —ERIEER (FFH(BE)

T AT & £ F ¥ {E (ppm)
el | 1 a4p | E Rt s | E R 6 B | E 1 74 B | TR 84E B | E R0 | E R0 B | T2t | TR 2o4E | ERi2sE B

€ R (= Bx 0.003 0.004 0.003 0.002 0.003 0.001 0.001 0.001 0.001 0.001
€ R (& @ EE 0.008 0.009 0.007 0.006 0.007 0.007 0.005 0.005 0.004 0.003
£ iR w3 FHE 0.002 0.002 0.003 0.003 0.003 0.002 0.002 0.001 0.001 0.002
& R Hh|$ C Y [E 0.004 0.004 0.002 0.002 0.001 0.001 0.001 0.001 0.001 0.001
% iR T[8R i) K53 0.003 0.004 0.004 0.004 0.004 0.003 0.003 0.002 0.002 0.002
£ iR (& Bh4E 0.003 0.004 0.005 0.004 0.004 0.003 0.003 0.002 0.002 0.002
£ iR |t Bh4E 0.002 0.003 0.003 0.003 0.002 0.002 0.002 0.002 0.002 0.001
t B |t EBlE 0.006 0.006 0.004 0.003 0.003 0.003 0.003 0.003 0.002 0.002
t B WX H|% 0.001 0.001 0.001 0.001
t B WA #8 E|Xx 0.002 0.002 0.002 0.001
t B g & B|X 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000
t B & I 1% 0.003 0.003 0.003 0.002 0.001 0.001 0.001 0.001 0.001 0.001
t B (& [T ES 0.001 0.000
t B & H|% 0.002 0.002
/A9 "N AN N 0.007 0.006 0.006 0.005 0.003 0.002 0.002 0.002 0.001 0.002
m B WX B OFME 0.009 0.009 0.007 0.007 0.009 0.007 0.006 0.005 0.005 0.004
hn & Il K[1E 0.006 0.006
B A YE|pg 0.002 0.002 0.002 0.002 0.001 0.001 0.001 0.000 0.000 0.000
B W Bl*x 0.003 0.003 0.002 0.002 0.001
=TT i £V F1E 0.004 0.005 0.004 0.003 0.003 0.003 0.003 0.003 0.003 0.003
[=IRTT ) S IES 0.003 0.004 0.005 0.004 0.004 0.002 0.002 0.002 0.001
BE % | E 0.006 0.004 0.003 0.002 0.003 0.002 0.002 0.002 0.002 0.002
b= vy = & 1E 0.003 0.003 0.003 0.003 0.002 0.002 0.001 0.001 0.001 0.001
N ET|N #E 0.004 0.005 0.004 0.003 0.002 0.001 0.002 0.001 0.001 0.001
FREEETS IHES 0.002 0.002 0.001 0.001
o BE & ET| B Blx 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000 0.000

(6) ZFXEILY (FFHHE)

T AT & F F ¥ {E (ppm)

el | 1 a4m | E Rt s | E R 6 B | A1 74 | TR 84E | E R0 | R0 B | TR 21 | T Ri2o4E B E s R

€ R (= BE 0.014 0.014 0.011 0.010 0.011 0.009 0.009 0.008 0.007 0.007
€ R (& @ EE 0.027 0.028 0.024 0.020 0.024 0.021 0.017 0.015 0.014 0.013
£ R w3 FHE 0.011 0.012 0.013 0.013 0.013 0.011 0.009 0.008 0.008 0.008
& R H|$ C Y [E 0.021 0.021 0.015 0.014 0.013 0.012 0.011 0.010 0.010 0.009
£ iR T[8R i) KE3 0.019 0.019 0.020 0.019 0.019 0.016 0.015 0.013 0.013 0.012
£ iR (& Bh4E 0.015 0.017 0.018 0.016 0.016 0.014 0.013 0.011 0.011 0.010
£ iR |t ke 0.012 0.013 0.014 0.013 0.012 0.010 0.009 0.009 0.008 0.006
t B |t EBlE 0.015 0.015 0.011 0.010 0.011 0.010 0.010 0.009 0.007 0.007
t B WX H|% 0.005 0.005 0.005 0.004
t B WA #8 E|Xx 0.005 0.005 0.005 0.005
t B g & B|X 0.003 0.003 0.003 0.002 0.002 0.002 0.002 0.002 0.002 0.002
t B & I % 0.009 0.009 0.009 0.007 0.006 0.005 0.006 0.004 0.005 0.004
t B (& TS 0.003 0.003
t B | H|% 0.006 0.007
/A9 "Nl I wET 0.022 0.019 0.019 0.017 0.013 0.011 0.010 0.009 0.009 0.009
m B WX B OFME 0.023 0.023 0.021 0.020 0.023 0.019 0.017 0.016 0.015 0.013
hn & dfl K1E 0.018 0.018
B A YE| R 0.008 0.009 0.007 0.006 0.006 0.005 0.005 0.004 0.004 0.004
B W Blx 0.012 0.012 0.011 0.010 0.006
=TT i EN FE 0.018 0.020 0.017 0.016 0.017 0.015 0.013 0.012 0.012 0.011
[=IRTT ) S IES 0.016 0.018 0.019 0.016 0.016 0.012 0.011 0.009 0.010
BE % | LE 0.019 0.015 0.014 0.012 0.013 0.011 0.010 0.010 0.009 0.010
b= vy = & E 0.014 0.014 0.014 0.013 0.013 0.011 0.009 0.008 0.008 0.007
N # AN #E 0.016 0.017 0.015 0.013 0.013 0.010 0.011 0.009 0.009 0.009
FEEEETS IHES 0.007 0.008 0.005 0.006
o BE & ET| B Z1ES 0.004 0.004 0.004 0.004 0.003 0.003 0.003 0.002 0.003 0.003




(1) —EfbRE (FFI5(E)

T AR A& F F ¥ {E (ppm)
Hotsk | e 1 asE | 15t e | TRt 164 B | R 74 B | R84 e | E A1 94 Be | 204 | ERt21 4 R | E 224 | TR 2a 4 B
& R M= B|1E 0.3 0.3 0.3 0.3 0.3 0.3 0.3 0.2 0.2 0.2
8) —EikixF (1 HEHEDFER 2 %ERIME) GREEHEAE : 10ppmLLTF)
- AEE A& 1B FEHEDER2%BRIME (ppm)
Hotsk | 1 asE | st e | TRt 164 B | TR 74 B | R s e | E A1 9% Be | 204 B | E 21 4 R | E 224 | TR 23 4 B
& R M= B|1E 05 0.5 05 05 05 0.4 0.4 0.4 0.4 0.4
9) A XI AU b (RED 1 BEREEDEFEHSE)
- AR Ag BRED1EEEDFEFIME (opm)
Hotsk | e 1 asE | 15t e | TRt 64 B | TR 74 B | R s e | A1 9% e | 204 pE | E A1 4 R | E 224 | TR 23 4 B
£ R M= E|E 0.042 0.039 0.042 0.036 0.037 0.039 0.036 0.037 0.037 0.032
& R Hm|@E m EWE 0.029 0.030 0.026 0.027 0.034 0.035 0.034 0.036 0.037 0.034
£ R |/ I F[E 0.032 0.029 0.026 0.025 0.032 0.034 0.033 0.035 0.036 0.036
& R | R|E 0.034 0.033 0.032 0.030 0.035 0.036 0.037 0.038 0.039 0.036
& R &R [ric] RE4 0.028 0.028 0.028 0.028 0.031 0.035 0.034 0.036 0.036 0.034
& R mW|#&E EB[1E 0.037 0.036 0.038 0.033 0.037 0.039 0.040 0.040 0.036 0.038
£ R m|d EBE 0.036 0.036 0.036 0.034 0.036 0.037 0.037 0.040 0.039 0.037
t B |t BE 0.034 0.035 0.035 0.032 0.034 0.036 0.037 0.038 0.037 0.036
t E #|X H|*% 0.043 0.042 0.042 0.042 0.039 0.039 0.037 0.042 0.041
t E W|E B KX 0.037 0.038 0.037 0.035 0.037 0.033 0.039 0.037 0.035
t E g & B|X 0.043 0.042 0.042 0.039 0.035 0.039 0.035 0.038 0.040 0.035
1\ /N H I [NE S 0.031 0.037 0.038 0.033 0.035 0.037 0.037 0.038 0.036 0.032
mE WX B OFME 0.029 0.032 0.035 0.031 0.030 0.032 0.029 0.033 0.032 0.030
B2 H P V|7 0.037 0.035 0.034 0.037 0.035 0.042 0.042 0.044 0.041 0.037
B W Blx 0.036 0.033 0.034 0.036 0.038 0.035 0.038 0.037 0.037 0.036
=TT PN F|1E 0.033 0.034 0.033 0.033 0.034 0.038 0.039 0.041 0.038 0.035
=R ES NES 0.033 0.031 0.030 0.032 0.030 0.038 0.038 0.037 0.039
BE % T|R FE 0.034 0.036 0.037 0.033 0.036 0.036 0.039 0.039 0.036 0.034
E O OET[E & [1E 0.035 0.033 0.033 0.033 0.033 0.035 0.035 0.040 0.035 0.033
M RN (1 0.036 0.036 0.034 0.035 0.031 0.038 0.039 0.042 0.039 0.036
FEREEETS I=HES 0.037 0.037 0.036 0.038 0.035 0.041
o BE ZET| R B|x 0.046 0.045 0.046 0.044 0.046 0.045 0.040 0.041 0.041 0.040
(10) HEZAXIA U~ (REDBERS 1 BEEDEFHIE)
T AEm A& BREOBHRS 1FKEEOEFHE (ppm)
Hotsk | e it asE | 154 e | TRt 64 B | R 74 B | R s B | E A1 9% e | 205 | ERk21 4 R | E 224 | TR 2a 4 B
£ R M= E|E 0.056 0.053 0.055 0.048 0.050 0.051 0.047 0.047 0.047 0.041
& R Hm|@E m #WE 0.041 0.043 0.037 0.037 0.048 0.048 0.047 0.048 0.049 0.046
£ R |/ I F[E 0.042 0.039 0.037 0.035 0.042 0.046 0.045 0.045 0.047 0.047
& R | R|E 0.050 0.049 0.046 0.042 0.049 0.049 0.050 0.051 0.051 0.048
£ R &R [riz] RE4 0.039 0.039 0.038 0.039 0.042 0.047 0.046 0.048 0.047 0.045
£ R mW|#&E EB[1E 0.052 0.051 0.052 0.045 0.051 0.053 0.053 0.053 0.048 0.050
£ R i EBE 0.049 0.049 0.050 0.046 0.049 0.050 0.049 0.052 0.050 0.048
t B |t BE 0.046 0.047 0.047 0.042 0.045 0.048 0.049 0.049 0.047 0.045
t E #|X H|*% 0.056 0.055 0.054 0.053 0.050 0.050 0.047 0.053 0.051
t E W|E B KX 0.050 0.051 0.050 0.045 0.049 0.044 0.052 0.048 0.046
t E milgE & Bk 0.054 0.054 0.053 0.049 0.044 0.050 0.046 0.047 0.051 0.045
1\ /NG H I [NE S 0.044 0.053 0.054 0.045 0.048 0.050 0.050 0.049 0.048 0.042
mE WX B OFME 0.043 0.048 0.051 0.045 0.044 0.046 0.042 0.046 0.045 0.042
B ¥ R |7 0.048 0.045 0.044 0.047 0.044 0.052 0.053 0.054 0.051 0.045
B W Blx 0.048 0.045 0.046 0.047 0.050 0.045 0.050 0.048 0.048 0.047
=TT o PN F|1E 0.045 0.047 0.045 0.045 0.046 0.051 0.053 0.053 0.049 0.046
=TT ES NES 0.046 0.042 0.042 0.042 0.041 0.051 0.050 0.048 0.051
BE % T|R E 0.047 0.050 0.050 0.044 0.049 0.048 0.052 0.051 0.047 0.045
E O OET[E & [1E 0.050 0.047 0.046 0.046 0.046 0.049 0.048 0.054 0.047 0.044
N # BTN (1 0.049 0.050 0.047 0.047 0.042 0.051 0.052 0.055 0.052 0.047
FREEETS I=HES 0.049 0.049 0.047 0.049 0.046 0.053
o BE EET| R B|x 0.057 0.056 0.057 0.055 0.057 0.056 0.051 0.051 0.051 0.049




(1) HieZAXIHFL b (BRED 1 EEREIEAO. 12ppmLd D HED
T AEE & R0 1EREEN0.12ppmEL ED B (A)
’ el | 1 a4p | E Rt s | E R 6 B | A1 74 B | TR 84E B | E R0 | R0 B | TR 21 | TR 2o4E | ERi2sE B
€ R M= BlE 0 0 0 0 0 0 0 0 0 0
€ R W& B EE 0 0 0 0 0 0 0 0 0 0
€ R ml/d I FHE 0 0 0 0 0 0 0 0 0 0
€ iR i|$ 2E 0 0 0 0 0 0 0 0 0 0
€ iR [8R iz k4 0 0 0 0 0 0 0 0 0 0
£ R m|#@ =il RE 0 0 0 0 0 0 0 0 0 0
£ R mld =il RE 0 0 0 0 0 0 0 0 0 0
t B mWlt ElE 0 0 0 0 0 0 0 0 0 0
t B WX H|% 1 0 0 0 0 0 0 0 0
t B WA #8 E|Xx 0 0 0 0 0 0 0 0 0
t B g & B|X 0 0 0 0 0 1 0 0 0 0
AR TIf W|ET 0 0 0 0 0 0 0 0 0 0
m B WX B OFME 0 0 0 0 0 0 0 0 0 0
DRI H P M| 0 0 0 0 0 0 0 0 0 0
B W IZ1E S 0 0 0 0 0 0 0 0 0 0
=TT ] E /A F1E 0 0 0 0 0 0 0 0 0 0
B W mlE MES 0 0 0 0 0 0 0 0 0
Be % | LE 0 0 0 0 0 0 0 0 0 0
#E WE ET[E &1 0 0 0 0 0 0 0 0 0 0
AN BTN #E 0 0 0 0 0 0 0 0 0 0
FEEEETS I ES 0 0 0 0 0 1
o BE & ET| R S1ES 1 0 1 0 0 1 0 0 0 0
(12) FHERFIRYE (FEFEHE)
BT AER A& F F ¥ {E (mg/m®)
el | 1 a4m | E Rt s | E A6 B | A1 74 | TR 84E B | E R0 | R0 B | TR 21 | T Ri2o4E | ERios B
€ R (= BE 0.021 0.020 0.020 0.021 0.021 0.019 0.020 0.016 0.016 0.015
€ R (& @ EE 0.022 0.019 0.020 0.022 0.020 0.017 0.019 0.017 0.017 0.017
£ R w3 FHE 0.020 0.018 0.017 0.019 0.020 0.018 0.020 0.017 0.016 0.014
£ R s Rr[{E 0.021 0.021 0.020 0.022
€ iR [8R [iiz) KE4 0.020 0.019
£ iR |t Bh4E 0.022 0.022 0.021 0.022 0.021 0.019 0.021 0.018 0.018 0.016
+ E |t EBlE 0.020 0.022 0.023 0.025 0.019 0.015 0.019 0.016 0.018 0.016
t B X H|% 0.017 0.018 0.018 0.019 0.017 0.016 0.016 0.015 0.017 0.019
+t B W|E 8 Elx 0.020 0.019 0.018 0.019 0.017 0.017 0.017 0.015 0.016 0.016
t B g & B|X 0.017 0.016 0.016 0.019 0.016 0.014 0.016 0.015 0.016 0.015
t B & I % 0.022 0.022 0.022 0.024 0.021 0.021 0.020 0.019 0.019 0.022
t B (& [T ES 0.019 0.021
t B | H|% 0.019 0.019
Z/AS N A w|ET 0.023 0.020 0.019 0.020 0.019 0.017 0.020 0.016 0.017 0.016
m B WX B OFHE 0.021 0.021 0.020 0.020 0.018 0.016 0.019 0.016 0.016 0.016
& dfl K[1E 0.019 0.018
B A YE| R 0.020 0.020 0.018 0.019 0.020 0.017 0.020 0.016 0.018 0.017
B W W Blx 0.018 0.016 0.015 0.017 0.018 0.018 0.019 0.016 0.017 0.015
=TT i £V FE 0.020 0.020 0.019 0.020 0.018 0.015 0.018 0.016 0.016 0.016
[=IRTT ] ES IES 0.022 0.020 0.020 0.023 0.018 0.016 0.019 0.017 0.018 0.017
BE % TR LE 0.024 0.020 0.019 0.019 0.019 0.017 0.019 0.017 0.017 0.016
2% ET[E & | 1E 0.020 0.019 0.019 0.018 0.019 0.019 0.019 0.017 0.018 0.018
A # ET|A #E 0.019 0.018 0.019 0.020 0.018 0.018 0.018 0.018 0.019 0.018
FEEEETS I ES 0.021 0.018 0.019 0.020 0.020 0.020
o BE & ET| R Z1ES 0.019 0.018 0.017 0.020 0.017 0.016 0.018 0.016 0.016 0.015




(13) FEfFRKYE (1 BFEYEOER 2 %ERIME)

(BIEEL . 0. 10mg/m’ LLTF)

T g PR 1HEHEOFER2%EME (mg/m°)
Hotsk | s 1 asE | 154 e | R 64 | R 7 | R s R | E A1 94 B | o0 | E 21 S| E R0 | 23 BE
£ R W= BE 0.062 0.048 0.052 0.056 0.057 0.056 0.051 0.039 0.047 0.036
& R H|@E m EE 0.056 0.045 0.045 0.058 0.054 0.045 0.047 0.043 0.048 0.040
£ R [/ I FH[E 0.057 0.046 0.046 0.048 0.052 0.055 0.045 0.040 0.047 0.036
& R | B fE 0.060 0.052 0.052 0.056
& R T|ER i) EES 0.055 0.048
& R i i EES 0.059 0.054 0.053 0.057 0.055 0.051 0.049 0.042 0.052 0.035
t E |t EB|E 0.054 0.047 0.056 0.067 0.051 0.050 0.046 0.039 0.054 0.037
£t E X 2] S 0.055 0.045 0.049 0.059 0.045 0.050 0.041 0.041 0.046 0.049
+t E WA 8 EX 0.061 0.046 0.046 0.054 0.045 0.046 0.043 0.037 0.052 0.040
t E i|EE & B|FX 0.050 0.044 0.046 0.057 0.047 0.053 0.042 0.039 0.051 0.040
t E |/ W55 | 4E 0.069 0.057 0.062 0.079 0.056 0.067 0.054 0.048 0.061 0.079
t E | i ES 0.059 0.050 0.054 0.062
t E i 5] ES 0.056 0.047 0.045 0.056
Z1\ /N1 I wl#ET 0.072 0.049 0.051 0.051 0.056 0.048 0.053 0.041 0.050 0.041
B WX B OF(HE 0.059 0.048 0.053 0.053 0.051 0.044 0.047 0.039 0.052 0.037
& [ RS 0.057 0.044 0.044
PRI PR M| 0.052 0.043 0.044 0.050 0.053 0.054 0.045 0.040 0.054 0.041
B W S1ES 0.059 0.042 0.041 0.049 0.047 0.047 0.044 0.037 0.047 0.036
SRRTT o E F[1E 0.063 0.048 0.050 0.049 0.053 0.044 0.046 0.039 0.047 0.037
SRRTT A ES INES 0.065 0.048 0.047 0.062 0.048 0.044 0.047 0.038 0.055 0.043
BE £ TH[R E 0.074 0.051 0.050 0.053 0.057 0.051 0.053 0.038 0.049 0.037
b= v P &£ 0.061 0.050 0.049 0.042 0.052 0.052 0.046 0.040 0.048 0.040
RN # TN HE 0.051 0.046 0.048 0.046 0.045 0.051 0.045 0.041 0.057 0.041
HEEEET| S B[* 0.057 0.045 0.048 0.057 0.052 0.057
1 RE EET| B B|% 0.057 0.045 0.048 0.063 0.050 0.052 0.045 0.041 0.052 0.036
(14) wuhfiFIRYE (FFEHE)
wEr | omem BB £ F ¥ fE (ueg/m)
Hotsk | s g1 aE | 154 e | R 64 | R 7 | R s R | E A1 94 B | o0 | E 21 | E R0 | 23 BE
t E Wt Bl 13.2
= L F|1E 11.3 11.9
(15) #uhpIFRYE (1 BEHEDERIS%IE)
T B A& £ F 1 fE (ue/m®)
Hotsk | s i1 aE | 154 | R 64 | R 7 | R s R | E A1 94 B | o0 | E A2 1 | E R0 | 23 B
+ B |t =4 I 315
= L F|1E 37.2 30.5
(16) AR vikibKkFE (FFHH{E)
—-— A A F F ¥ {E (ppmC)
Hotsk | s i1 4 | 154 e | R 64 | R 7 | R s R | E R 94 B | o0 R | E 21 | E Rt 22 | 23 B
£ R W= EE 0.12 0.12 0.11 0.12 0.12 0.11 0.12 0.10 0.08 0.09
t E WX H|*x 0.08 0.10 0.06 0.04 0.06 0.05 0.05 0.07 0.08 0.08
N # BTN HE 0.10 0.07 0.09 0.07 0.10 0.10 0.09 0.07 0.07 0.05
(D) FEAZ vikibKkFE 6~BFIZEITHFEFHIE)
- A A& 6~9BFICHITHETHIE (ppmC)
Hotsk | s g1 aE | 154 | R 64 | R 7 | R s R | E R 94 B | o0 | E 21 S| E R0 | 23 R
£ R W= EE 0.12 0.13 0.12 0.13 0.13 0.12 0.13 0.11 0.09 0.09
t E WX H|*x 0.09 0.11 0.06 0.05 0.07 0.06 0.06 0.07 0.08 0.08
HN# AN H|E 0.12 0.10 0.12 0.10 0.12 0.12 0.11 0.08 0.08 0.06




(18) A5 > (FFHIE)

T AR A& £ F ¥ fE (ppmC)
g HotSk | 1 asE | 54 e | Rk 164 B | R 74 R | R s B | E R 9% B | 20 pE | ERk21 4 B | E RG22 | 23 B
£ R W= BlF 1.87 1.88 1.88 1.90 1.90 1.91 1.95 1.94 1.94 1.99
t E ®|X H|x 1.78 1.80 1.80 1.82 1.82 1.82 1.84 1.85 1.86 1.85
N # BTN #|E 1.85 1.88 1.87 1.87 1.88 1.88 1.89 1.90 1.90 1.91
(19) #ZxibKkFE (FFEHHE)
T AR A& £ F ¥ fE (ppm0C)
g Hotek | 1 asE | 54 e | Rt 64E B | R 7 R | R s B | E R 9% e | 20 rE | TRk 21 4 R | E RG22 | TR 23 B
£ R W= BlF 1.98 2.00 1.99 2.01 2.03 2.02 2.06 2.04 2.02 2.08
t E ®W|X H|*x 1.86 1.90 1.86 1.87 1.88 1.88 1.89 1.92 1.94 1.92
N # BTN #E 1.95 1.95 1.96 1.95 1.98 1.98 1.98 1.97 1.97 1.95




4 BREHHARAEROFHAEREROEFEL
(1) —EEEFR (FFI5E)

. AES & F T ¥ {E (ppm)
g HotE | 1 asE | 154 e | TRt 164 B | R 74 B | R s B | E R 9% B | 204 | ERk21 4 B | E RG22 B | TR 23 4 B
£ R mEX & & 0.034 0.032 0.033 0.037 0.033 0.034 0.031 0.027 0.028 0.026
£ R m{(E)F B |[& 0.034 0.038 0.041 0.039 0.037 0.033 0.032 0.032 0.030 0.027
£ R M|k I |#T 0.030 0.032 0.026 0.025 0.026 0.023 0.022 0.020 0.020 0.019
£ R Wm[(EER 71 & 0.023 0.023 0.025 0.025 0.022 0.022
B2 mET((EDEF AT [1F 0.030 0.034 0.033 0.033 0.030 0.028 0.022
2) —It=EZFE (1 HIEHEDEREI8%IE) (REEEZE - 0. 04ppm~0. 06ppmLATF)
- . A& 1B FEHEDERHIB%IE (ppm)
. HotE | 1 asE | 54 e | TRk 64 B | R 74 R | R s B | R 9% B | 20 | TRk 21 4 B | E RG22 | TR 23 B
£ R m(EX & & 0.050 0.048 0.050 0.052 0.051 0.048 0.048 0.041 0.040 0.041
£ R m[(E)F B |[& 0.051 0.060 0.063 0.054 0.052 0.048 0.048 0.047 0.043 0.041
£ R M|k I |#T 0.048 0.050 0.041 0.041 0.041 0.038 0.039 0.036 0.037 0.033
£ R Wm[(EER 71 & 0.034 0.035 0.037 0.038 0.035 0.033
B2 mET((EDE AT [1F 0.048 0.054 0.054 0.056 0.054 0.050 0.042
Q) —HILER (FFHME)
mar | omem |PE £ F 1§ & (opm)
g Hotek | 1 asE | 54 e | TRk 164 B | R 74 R | R s B | R 9% e | 20 | ERk21 4 R | E RG22 | TR 23 4 B
£ R mEX & & 0.060 0.056 0.058 0.057 0.050 0.047 0.040 0.028 0.026 0.023
£ R m[(B)F B [@& 0.066 0.077 0.082 0.072 0.063 0.050 0.044 0.041 0.033 0.029
£ R M|k I |#T 0.019 0.024 0.018 0.016 0.016 0.013 0.013 0.011 0.011 0.010
£ R Wm[(EER /1 & 0.019 0.020 0.024 0.021 0.019 0.018
B2 mET((EDEF AT [1F 0.042 0.035 0.030 0.029 0.024 0.029 0.029
(4) ZHEBIEY (FFHME)
. AES & F T ¥ {E (ppm)
g HotSk | 1 asE | 54 e | TRk 164 B | R 74 B | R s B | E R 9% B | 20 pE | T Rk21 4 R | E RG22 | 23 B
£ R m(EX & & 0.094 0.088 0.091 0.093 0.083 0.081 0.070 0.055 0.054 0.049
£ R m{(E)F B [& 0.100 0.115 0.123 0.111 0.100 0.083 0.076 0.072 0.063 0.056
£ R W)k I |#T 0.049 0.056 0.043 0.041 0.041 0.036 0.035 0.031 0.032 0.029
£ R Wm[(EER 71 & 0.042 0.043 0.049 0.046 0.041 0.040
B2 mET((EDE AT [1F 0.073 0.069 0.063 0.062 0.053 0.057 0.051
b) —BikxFE (FFEHIE)
mar | omem |PE £ F 1§ @ (opm)
g Hotek | 1 asE | 154 e | TRt 64E B | R 74 R | R s B | E R 9% B | 20 | TRk 21 4 B | E RG22 | TR 23 4 B
£ R m(EX & & 08 08 0.9 0.9 0.8 0.8 0.7 0.6 0.6 0.6
£ R m{(B)F B [@& 1.6 1.7 14 1.2 1.1 10 0.9 0.9 0.9 1.0
£ R M|k I |#T 05 05 05 05 05 0.4 0.4 0.4 0.4 0.4
& R W{(E)ER 71 | 0.7 0.7 0.6 0.6 05 05
N mEN B |E 05 05 04 04 04 04 03 0.3 03
B a2 mET((EDEF AT [1F 0.7 0.7 0.6 0.6 0.6 05 05 0.4 0.5 0.4
6) —EibixkFE (1 HEHEDFER 2 %ERIME) GREEHEZE - 10ppmLLTF)
- . A& 1B EHED FME2%BRIME (ppm)
g Hotek | 1 asE | 54 e | Rk 64E B | R 74 B | R s B | E R 9% B | 20 | TRk 21 4 B | RG22 | TR 23 4 B
£ R m(EX & & 1.9 1.4 1.4 1.4 1.2 1.1 1.0 1.1 1.0 1.0
£ R m[(E)F B |[@& 29 26 2.1 1.9 1.7 14 1.2 1.4 1.6 1.9
£ R W&k I |#T 0.8 0.9 0.8 0.8 0.8 0.7 0.6 0.6 0.7 0.6
& R W{(E)ER 71 | 1.1 1.1 1.0 1.0 08 08
N mEN B |E 0.9 0.8 0.7 0.7 0.7 0.6 0.5 0.5 0.6
B2 mET((EDE AT |[1F 10 10 10 0.9 0.9 0.8 0.7 0.7 0.7 0.7




() FEpFRYE (FFHE)
— AED =S EFEHME (mg/m)
W | ERg1aters | TR | ER6ERE | TR 7ER | TRIsER | TR19ERE | TR20ERE | TR21 R | TR2ERE | TR0
£ R m(EX & & 0.026 0.023 0.024 0.026 0.024 0.024 0.021 0.016 0.016 0.015
£ R m[(E)F B [@& 0.030 0.031 0.027 0.027 0.025 0.028 0.029
£ R M|k I |#T 0.023 0.024 0.022 0.018 0.020 0.017 0.017 0.018
£ R Wm[(EER 71 & 0.028 0.027 0.025 0.020 0.020 0.019
B2 mET((EDE AT [1F 0.026 0.026 0.023 0.024 0.019 0.019 0.020
(8) FHERMFIKYE (1HFHEDER 2 %FRIME) (BIEEE . 0. 10mg/m’LLF)
- P =S 1EFEHBEDOFERM2%BNME (mg/m°)
W | mrpias | ERisE | TR | TR | FRisERE | TRoERE | TacoER | ER2EE | TroEE | TR2sEE
£ R WmlE® & (& 0.061 0.048 0.052 0.062 0.056 0.058 0.050 0.037 0.046 0.035
& R M((B)F BT |& 0.059 0.065 0.058 0.058 0.058 0.066 0.078
& R H[(EE I [#X 0.052 0.056 0.058 0.051 0.045 0.042 0.047 0.039
& R W[(E)ER 71 |F 0.071 0.057 0.063 0.052 0.048 0.049
B < T BT[(BDEF AT [1F 0.059 0.062 0.059 0.052 0.044 0.050 0.043

9) EAZ UibkEF (FTHIE)

- — Bg FEFH{E (ppmC)
' W | Ea | Taiser| Tauieas | TairaE| Taises| TaiomE | Tacosr | TreiEE| Taocas| FassE
% R mlB)X & |& 0.56 0.55 0.58 0.42 0.31 0.30 0.25 0.16 0.18 0.14

(10) FEA% viribKE 6~IFICHITDETHIE)

- S Bg FEFHE (ppmC)
' Wi | Ea | Taiser| o | TairaE| Taises| o | Tacosr | TreiEE| Taocas| FasEE
% R mlB)X & |& 0.43 0.48 0.49 0.37 0.27 0.26 0.21 0.14 0.17 0.13

a1 A% > (FF9fE)

- S Bg FEFHIE (ppmC)
’ W | prpias | ERisE | TR | TR | FRisERE | TR0 | TRooER | ER2EE | TroEE | TR2sEE
£ R mlB)H & |& 1.95 1.98 2.01 1.92 1.88 1.89 1.89 1.89 1.89 1.88

(12) £ribkE (FEFHE)

- S Bg FEF{E (ppmC)
' W | Ea | Taiser| o | TairaE| Taise| TaiomE | Tacosr | TreiEE| Taocas| FasEE
+ R mlB)X & |& 2.51 2.53 2.60 2.34 219 219 214 2.06 2.07 2.02






